Econ 301 Midterm II
Fall 2010

Hakan Berument

Answer all the questions

Wrong answers will be penalized.

I. Rename this file with your first and last name.
II. Only the answers on the word file will be graded.

III. Write your first and last name to the footer.
IV. Save the file on your computer (temporary directory of your computer)

V. ,α=0.05, unless otherwise mentioned.
VI. Do not forget to upload the relevant files to the system.

VII. Never ever re-open a file before closing it.

Question 1:
1. Excel file question1.xls  gives data on 60 observations. 
a. Consider the following model: 
VOLi = β0 + β1 TOTi + β2 SATi + ui 
Where VOL is the volume of book checkouts for university libraries across the US, TOT is total number of faculty and students and SAT is the average SAT scares. 

a. Let the variance increases with WT:  var(ui) = σ2 TOTi
i. With the Park’s test.

(Report the output of the test and write the result)
ii. With White’s tests

(report the output of the test and write the result)

iii. With Goldfeld-Quant’s test

(report the F-test value and result)

b. Report the GLS results 

i.  if Let the variance increases with WT:  var(ui) = σ2 TOTi
ii. if Let the variance increases with WT:  var(ui) = σ2 TOT3i
iii. Obtain OLS estimator with the White's heteroscedasticity-consistent standard errors and t-values and compare your results with those obtained from GLS.

2. Bu by using the dataset question2.xls run the following regression
Log(Ahe) = β0 + β1 age +β2 female +β3 bachelor + β4 female*age + β5 bachelor*age +β7 female*bachelor + ε
Where female = 1 if the agent is female and zero otherwise; bachelor = 1 if the agent holds a bachelor degree and zero otherwise.
a. What is the estimate of β3?  How can you interpret this?

	-0.059321


b. What is the estimate of β7?  How can you interpret this?

	0.066170


c. Test the 

Ho: β4+β5=0 versus Ha: not Ho

What is the test statistics and do you reject the null?  What does it mean?
	F
	0.127
	
	0.610097

	
	0.208164
	
	


d. Test the 

Ho: β2=β4=β7=0 versus Ha: not Ho

What is the test statistics and do you reject the null?  What does it mean?
	F
	21.59933
	
	103.7613

	
	0.208164
	
	


e. Test the 

Ho: β4+β5=0 and β6=0 versus Ha: not Ho

What is the test statistics and do you reject the null?  

	F
	1.089
	
	5.23146

	
	0.208164
	
	


f. Test the 

Ho: β2=1.5; β3=1 and 2*β5=β4 versus Ha: not Ho

What is the test statistics and do you reject the null?  

	F
	45.80233
	
	220.0304

	
	0.208164
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Name: Write your name here.

